i -

A given amino acid has the followin

) 7.1
b) 555

Do -

Q2. Which of the following is a pentapeptide?

B pKa values : a-COOH=

: 2.15, a-NH3+ =g 95, =
= 10.53. then its Pl Value s : e
—_— - :

a) Carnosine,
b) Glutathione.
c) Oxytocin.
d) Enkephalin,-

@ What is the net charge on the peptide : phe-Glu-lys-Met at pH12?

a) Zero
b) +1
c) -2
d) +2

Q4. How maL\
.ﬂ!_ 1

y equlualents hf

&:\}"Du nEEd to tomplete!v titrate g!utami




a %‘pﬂn% overall zero charge
b) Is polar with overall negative charge

ﬁ s polar with an overall positive charge ~
d) Is nonpolar

b o
= et ‘ ':'l'.""{ ~ e o
Q14.Which of the following statements about glutathione is NOT CORRECT? co® X
57
a) Itcontainsa gamma-glutamyl residue r
b) It acts as an oxidizing agent in the cell ..~
€) The reduced form has a—SH group
_ d) The oxidized form contains an 5-5 bond
I L R 7 .
@What is the net charge on the peptude phe-Glu-Lys-Met at pH17?
'*k e W -t
] a) Zero
i 1 Lt i L
i h} +1 N?L 2 _.thﬂ_* 1 Aoy g N —
:" c) 1 & = g -
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@&Whidl statement is NOT CORRECT ahnut the peptlde bond ?

a) 'ﬂm peptide bond has partial double-bound character -

l:} The peptide bond is longer than the typical carimg-nrtrugen bond
c  Rotation s restricted about the peptide bond.

'lh(;:ub-.nw,rl oxygen and the amid! hydrugen are mnst ﬂften in a trans configuration with
'mmw one anoiher '
atid ¢

nine aﬁﬂthe pKa of the aﬂlpha COOH group

nfthe alpha -H H3+ gro
nfthe al‘pha -NH3+ g;@nh

'_'J-‘



o

W’i’l'lcll'dfth&fnllnwlng amino acids is not chiral 7

a) Proline
b) Glycine
c) Alanine
d) Lysine

03!. Which of the following amino acids is a precursor of Thyroxine?

‘a) Tryptophan —
h, ﬁl’&ﬂi‘line ( E::;t.‘l' < T » +
) Tyrosine A = i<
d) Lysine Fkl = (j‘ =
. j > W 4 _ -
022. Which of the following is a tripeptide? i /
i]_-_ Carnosine ' :
)) Glutathione 4 A
Oxytocin e -'*l" == e
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- Q26.Which of the following amino acid pairs are polar?

a) Valand Asp
ﬁi Am and Glu
c) Leuand Met
d) ileand Lys

e 5@?ﬁﬂuﬁng titration with a strong base asparagine can exist in :

a) One ionic form

b) Tow ionic forms
 £) Threeionic forms -
b’ d) Four ionic forms

5
’ B W.Whicl'l of the following amino acids has H@Hr_gphnbic (non-polar) side chain ?

: a) val
~ b) Glu
g
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et - B! o e =
._ :qﬁ_!_t_ha-faiw%: amino acids is uncommion?
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dized glutathione contains: g s
a) two peptide bonds anr

) four peptide bonds 2
9}"'{ six peptide bonds

mﬂ"“ peptide bonds .

Wllatls the net charge on the tripeptide :Glu-Asp-Val at pH /.0, if the pKa of NH2 terminal = 10.1
ﬁd-—'mm-ltenninglﬂ.a? A oV ¥

b) 1
B

-

hydrophobic (non-polar) side chain ?



ich of the following amino acids does not occur in proteins? X
L-phenylalnine

238. Which of the following is a hydrophobic substance?

‘a) Alanine
4 .- b) Ethanol

" d) Hexane
~ @39. Which of the following is a hydrophilic substance?

‘a) Hexane
b} Acetone
c) Fatty acid e
'd) Cholesterol b
[

ﬁﬂ- Which of the following statement is co rre:t ahuut the dipeptide carnosin e?

a—————————
b Z

) ‘ltlsmanul’actured asadrug

s composed of heta-.ﬁlanine L—Hlstidlne

s composed of alpha-nlanlne-l._i-llstldlne
‘composed of betaLAlarlﬂne-D-Hlsti_dine L

Important e :ddl i t
_'E isan n% scav hmug z rg; ;Ef: s because it contains:

B =

Elu-ﬁsp’-‘fal HMEEE_PL' if the pKa of NH2 terminal
? &= =1 - == )



cids have the zwitterionic structure:

2ir pl

A ‘high pH

mntlm molecule carries a net negative charge
When the molecule carries a net positive charge

"M!II:h of the following amino acids has hydrophobic (non-polar) side chain ?

a) ile
b) Glu
c) Cys
d). Ser

-

Q45. During titration with a strong base Lysine can exist in : ‘? 3

a) One ionic form

b) Tow ionic forms

c) Three ionic forms—
d) Four ionic forms

; E\ educed glutathione contains;
a) huu paptidebnnds v

£

= 4 I .
i _—
s the net t.ha:ge on the tripeptitte Gln-ﬁ.s p-"u'al at pH 11, 0, if the pka of NH2 terminal =10.1 i
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. A given amlrm acid has the following pka values: a-COOH=2, 18, a- NH;‘@ and
A side chain =
10.53) Then its Pl value is:

%

= | By o p—"l v 4 =
.H%%:ma peptldié Ir Pﬁeﬂ’ﬁﬂ}af pH7?
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a) Glutathione
b) Gramicidin §
r‘-.] Enkephalin
- d) Oxytocin

8. Glutathione is an im portant xwenger uf oxidizing agents because it contains:




~ Q62. Agiven amino acid has the following pKa values: a-COOH=2.15, a-NH3+= 8, g5,

¥

3.85. Then its Pl value is:

a) 5.55
b) 3.00
c) 4.98
d) 6.40

Q63. Which of the following is a dipeptide?

a) Carnosine
b) Glutathione

c) Oxytocin
d) Enkephalin

Q64. What is the net charge on the peptide : Phe-Glu-Lys-Met at pH1?

a) Zero
b) +1
9 1
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ywing amino acid is aromatic?

L

and side chain(RH) =
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Question
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